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Question -1- J
Which equation is NOT a linear function? ~ © v =
ANy=2r+5
Bly = -3z
Quy=ux?—4
D)y =05z+7

Question -2-

What is the equation of a line with slope 4 and y-intercept -27
Ny —4dr+ 2

Bly = dr — 2

Qy—=—4dr+2

D)y = —4x — 2
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Question -3-

Which of the following relations are functions? Give reasons.

{2 1), (5,1), (8 1), (11, 1), (14, 1), (17, 1)}
({2 1), (4,2),(6,3), (8 4), (10,5), (12, 6), (14, )}
({1 3), (1,5). (2,9}

Question -4-

The domain and range of the function f given by fix) =2 — |x — 5|, is

(a) Domain = (—o0 ,+00 ), Range = (—0, 1]
(b) Domain = (—o0 ,+o0 ), Range = (=00, 2]
(¢) Domain = (o0 ;+00 ), Range = (—o0, 2)
(d) Domain = (+o0 ), Range = (-, 2]

Question -5-

The domain and range of real function f defined by fx=x-1 is given by
(a) Domain = (1, =), Range = (0, )
(b) Domain = [1, ), Range =(0, «)
(c) Domain =[1, ), Range = [0, )
(d) Domain = [1, ), Range = [0, %)

Question -6-

If f(x)=2\x—1+5V1—x+(x2+x+1)3/2 exists, then domain of f(x) is
(a) [-1.1]

(b) {-11}

(c) {1}

(d)(-1.1)
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Question -7-

If f{x)="3|x|—x—2, then which of the following is (are) CORRECT? ~
(a) Range of f(x) is [0, )
(b) Range of f(x) is [1, )
(c) Domain of f(x) is (o0, —=12] U [1, )
(d) Domain of f(x) is (—o0,12] U [1, o)

Question -8-

The graph of y = 2z + 1 passes through which point?

A) (0, 2)
B} (0, 1)
Q1,2
D) (2, 0)

Question -9-
Find the domain of the functions.

a f(x)=1/|x2-4|

b. g(x) = 1/ (x?+ 4x + 3)
c. h(x) = (x? + 5x - 6)
d. k(x) =1/\(x-2)2
ej)=1/(x-Va+2)
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Question -10-

Find the range of the functions. M
a. f(x) =-x2+6x+5

b.gx)=|x+3]-2

c.hx)=(x-2)/(x+3)

d. k(x) = [x3 + 4|

e jx)=[(x+4)(x-2)|

f.1(x) = | 1/(x - 3) |

Question -11- J
- - T : -
Find the domain of the functions.
) 2x

aAdy= ———

Y= 13z 36

bxr —3

b)y

B Vet +z—2 -4
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Question -12- @
- - R : -
Find the domain of the functions.
a)y=— 7
Y 2 —4x -5
r— 2
b —_
)y 2 —Hxr+6
9
Question -13- @

Write an equation for the linear function graphed below.

frz)

T

21 | 123456738
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Question -14-

Given the table below write a linear equation that represents the table values. "\/" “
w. number of | 0 2 4 6
weeks
P(w). number | 1000 1080 1160 1240
of rats

Question -15-

Determine if each function is increasing or decreasing. v

7. f(x)=4x+3 8. g(x)=3x+6
9. a(x)=5-2x 10. b(x)=8-3x

12. k(x)=—4x+1

1
14 x)=—x-5
px)=7x
16 m(.v)=—§x+3
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Question -16-

&

Find the slope of the line that passes through the two given points.

17.(2.4) and (4. 10) 18.(1,5)and (4. 11)
19. (-1.4) and (5. 2) 20.(-2. 8) and (4. 6)
21.(6.11) and (-4,3) 22.(9.10) and (-6.-12)

Question -17- @

Find the slope of the lines graphed.

h

-

1 2 3 4

c.%
o

=R g
—t—t—

R 1 2 3 &N5 6
-1
2t
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Question -18-

\'v'!
Find an equation for the function graphed.

Question -19-

Which of the following tables could represent a linear function? For each that could be linear,
find a linear equation models the data.

X 2(x) X hix) X Jx) X k(x)
0 5 0 5 0 -5 5 13
5 -10 5 30 5 20 10 |28
1 -25 10 105 10 45 20 58
15 -40 15 230 15 70 25 73
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Question -20-

What is the equation of a line with a slope of 2 and passing through (0,3)?

ANy—=2r—3
By = 2z + 3
Qy—=—2r+3
D)y —3xz+ 2
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